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22) A college Student earns income by typing ferm papers on a computer, which She leases

_whi
(along with a printer). The student charges 34 per page for her work, and she estimates that
her monthly cost when typing X pages 18 Cx)=.10x+76 dollars

) What 15 the students profit If she types (00 pages i | month?
R(x)=HX , c(x)=.I1Dx+15

P(X)=RX)-CCx)=4Yx-(0.10x+78) = YX-0.10x-715 = 39x-16
PCI00) = 3.9C100)-76 = 390-15 $315




24D A cellolar felephon e company estimates +hat, if it has % hovsand svboscribers | 1+s monthly
profit 13 P thousand dollars where P(X) = 12¥-200
) How many Subscribers dre needed for a monthly profit of 1D thousond dollars ?
kD =12%-200 => 360 =12x =)[X=30 hovsand subscribers |

20) A catering company estimates that, \f i+ has X customers in a typical week, its expenses
will e approximately ¢(x)=550x+6600 dollars, and ifs revenve will be approximately
ROO=1200x dolars.
) How much profit+ will the Company €arn in 1 week when it has 12 costomers?
POO= RIX) - CLX) = 1200% - (550 x+bS00) = 1200X - 550X - GSOD = 650X -6500

PO = 690(12) -6 S00 =
Section 11

33) estimate the cost of manufactori ng 51 bicycles per da\/ in Exercise 3.
ceNx CeD) + C'(5))= 5000+45 4555:\i

40) Let P(x> be the profit from producing (and selling) X units of goods. Match each
question with the proper solution.
Questions
A.What is the profit from producing 1000 units of goods ?
B. At what level of production will the marging | profit be 1000 dollars?
C.what 15 the marginal profit from producing (000 units of goods?
D. For what level of production will +he profit be 1000 dollars ? X
Jolutions
(a) Compote P'(1000)
(b) Find a valve of a for which P'(a)= 1000
(c) set P(x)=1000 and SOve for X
(d) Compute PLICCO)
A (d)
B (b)
c (@
D (&
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